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HH F52 BE Ik
ESL 22.5 25. 4 22.5
EY 16, 1 16. 1 16. 1
Wi & & 7 /L& XLmodel 22 26 22 km
K7 Je& & 5 /L Wmode 1 16 16 16 km
0 318.9 27 344 °
AL | 60 60 60 °
By 35 125 10 ¢
g% 197 )8 & 7 /L i A Smode 1 352 : 120416 352 km?  {Smodel=Lmodel X Wmodel
T HEET A Fio 4. 06B+19! 4. 86E+19] 4. 06E+19 Nm
[ R 700 71 7.0
; - v 7.3 W= (Loghlo-9. 1) /1. 5
| EE T A O EER 10.6 11.5 10.6 km
G BE T A o 15.0 14.0 15. 0 MPa | A ¢=7/16Mo/R*
MERAEEOEE o 2,700 2,700 2,700 kg/m3
P W HE o 6.0 6.0 6.0 km/s
S HE B 3.4 3.4 3.4 km/s
A P = gy 3.43E+10f 3.43E+10{ 3.43E+10 N/m?
)Y FiDmodel 3.26 3. 47 3. 26
SMGA{HE % 1 1 1
4 i fiSa 77. 4 91.5 77.4 km?  {Sa=0.22XS
S SEAMERE 5.0 5.4 5.0 km
M SRR Y BiDa 6.5 6.9 6.5 m__ Da=E + Dmodel, &=2.0
G EWES oa 68. 0 63.5 68. 0 MPa | A g=7/16Mo/R’
A THEEE— A I Moa 1.73E+190 2. 18E+19] 1. 73E+19 Nm__ iMoa= 1 DaSa
L. {iiffsal 77. 4 91.5 77. 4 km® |Sal=Sa
S E 2T 5.0 5.4 5.0 k= (Sal/z) 2
g EMEERy ] 1.0 1.0 1.0 v 1=rl/r
., v LEE Y EDal 6.528 6.936 6.528 m___iDal=(y1/%yi’) +Da
[z s -
" ¢ (FEHIES oal 67.998 63. 481 67.998 MPa__joal=oa
A MIEE— A BMoal 1.73E+19; 2. 18E+19{ 1.73E+19
?2 A5 H 80. 0 100. 0 80. 0 km? (BIEEFLA Y 2t X
k.
2 o SR r2 km  {r2=(Sa2/z)"?
P S SRy 2 v 2=12/1
| v CEEE Y #Da2 m_ Da2=(y2/% yi’) - Da
G FEWi S o a2 MPa caz=oa
A MEE— A FMoa2
A1 R 0.0 0.0 0.0 km’> BEET LAY aP AR
A & Sb 274.6 324.5 274.6 km?  |Sb=Smodel-Sa
e R NRE- 1)) 2. 465 2.414 2. 465 m  {Db=Mob/(y * Sb)
o l%ﬁl%?x&z%tt 1.4 1.6 1.4
ﬁﬁ 5 I O 1E Wb 14 14 14 km
w (ERES ob 16.0 15.0 16.0 ob=(Db/Wb) + (S x/Da) ~r- ¥ yi': oa
HEE— A > FMob 2.32E+19]  2.69E+19]  2.32E+19 Nm___ {Mob=Mo-Moa
S A 272.0 316.0 272.0




; *|
sL LT T T TTTTTT [TTTT

5B ET

| AB
= ANCNE -
i - o o G
& >0 510 20 30
L -:-:—:F\:EI)(—HI/

Wandl { N

2@ WRfefEBRELMR (F52) (7Y —Bi%0)

3




*|
[TTTT

o
sL LT T 1T

4

8
r FL4BI KR e A Em .
= =2 0 ™
. = o B =pm
& 0 510 20 30
L e AR
Wl L A S
2(0@ WIRILMAERESAK (F52) (7Y — > BIS+ BRI R



H

o
7 *|
[TTTT

5 EET

5

[

- =i
=1 ! 1

- + = 174 @ =RE
& > 0 510 20 30
L o O A R

Wl N4
22)O BIRILMERESFR (F52) (7Y — B0




o
7 *|
[TTTT

5 EET

6

d
8
r FL4BI RIEAT e A Em .
IR A @
- =i
= =2 0 ™
. = o B =pm
& >0 5 10 20 30
L e AR
Wl L N4
22)@ WIRILMERESMK (F52) (7Y — > BIS+ BRI R



*
[TTTT

§ [TTTT TTTTT

5 EET

| Al
= g4 0 ™
- o o G
3 > 0 5 10 20 30
L | H = 22 . 3\'—l:|>‘ -~
Wl L N4

23)® WRfefERELMR (F52) (7Y —Bi%0)

7



6
* 7
[TTTT

5 EET

¢
8
Al XA e §5
3 3 % I(C‘ \
x&wg:mm e
- = Al T o “
- I:P - = o @ ZRE
{8 >o 510 20 30
L | H = 22 . :\:ED‘ |
S 1 IV

X2(3)@ WIRILMERELMIN (F52)

8

(7' ) — > BA% - BRI )



*
[TTTT TTTTT [TTTT

5 EET

| Al
= g4 0 ©
- o o G
3 > 0 5 10 20 30
L | H = 22 . 3\'—l:|>‘ -~
Wl L N4

20O WRfefEBRELMR (F52) (7Y —Bi%0)

9



k 7
[TTTT TTTTT [TTTT1s

5 BT

FLWJ ' ”ﬁ“ : =ER
TR e Tz s 'k:'\
— =T .
- + - = o @ ZRE
& > 0 510 20 30
BL AN
~ i n s

2(0)Q WRILERENMAR (F52) (7Y — EEEHREE)

10



11



